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Jf you see a sunshine, you can t see the shadow .

1 | Vocabulary :
A. Match the pictures with the sentences .

2. It pumps blood all around your body . ( ........ )
3. A type of an endangered animal . ( ........)
4. This species , or animal type , has no member of its kind alive . It is extinct . ( ........ )

2 | B. Fill in the blanks with the words given . ( There is one word extra )
firesh / happened / planet / delicious / saved / instead / attention / fact / future

8. AN WE SBE . cvomns s svwmn s 5o Saturn without a telescope ?

6.1like .........oeetie. fruits and vegetables . What about you ?

FON T —— that the moon travels around the earth .

8. This soup is very good to eat . It is very ...............

9. Did you hear what .............. to me on my way to school

10. “Did you see Peter’s .............. wife at the party ?” “Yes, she was very beautiful .
11. Can you go to the meeting ............... of me 7 1 am very busy today .

122He ..ocoeveennee. me from the fire . That’s the reason why I thanked him .

0.5 | C. Fill in the blanks with the proper words of your own .

13. A person who takes care of the animals in a zoo is calleda ....................
14. It is an instrument that magnifies , or makes larger distant objects and you can see stars
and planets with it . Itisa/an ..............

0.5 | D. Choose the correct answer .

15 He is niot old . «ssuens yosens to drive a car . He is only 14 years old .
a. favorite b. pretty C. Nervous d. enough
16. White cells ............. our body against microbes .

a. carry b. increase c. defend d. express
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2 | Grammar :
E. Choose the correct answer .
Y, Th8 BIS 18 e st sins river in the world .
a. longer than b. long c. the longest d. as long as
18.Be .ccvvinnnnn. ! You should look both sides when you cross the street .
a. care b. careful c. carefully d. most care
19. Do you think he ............ come tomorrow ?
a. is b. was c. will d. does
20, Mr Browti 18 .« . cees s seess English teacher . He has two .......... . They are polite ......... .
a. the / child / girl’s c. a/ childs / grils
c. an/ children / girls d. an / children / girl
1 | F. Put the words in the correct order .
21. you/ going / Shiraz / are / to stay /in / ?
22. aliving cell / need to / viruses / inside / live .
| | G. Match the items in A with the items in B . There is one extra item in B .
. A : : B
23. A microscope uses lenses ..... a. They need more places for living .
24. We have some plans ...... b. but not so much alike .
25. When the number of people on Earth increases  c. to make very small things look larger .
26 . One way to keep our body healthy is ..... d. to protect animals’ homes .
e. by eating good food and doing daily exercise.
0.5 | Pronunciation:

H. Which one is different in intonation pattern?
27. a. What will you do ? b. he will help us with Math .
c. What is he going to do ? d. Are you going to play tennis ?

Comprehension:

I. Choose the best answer .

28. The holes on the moon were made by very big rocks . Some holes were very wide .
They had walls as tall as tall buildings .
According to the above sentences, ........................ .

a. there were tall buildings on the moon
b. the walls of tall buildings were made by big rocks
c. the big rocks were used to build walls on the moon
d. the big rocks made wide holes on the moon ,
29. He spent the day working in his garden . At sunset he didn’t have time to dress for the
dinner . So he went in his work clothes . This means thathe ...........................

a. changed his clothes in his garden b. spent the day at the party
c. put on fine clothes for the party d. didn’t change his clothes for the party
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2.5 | J. Read the passage and answer the questions .

Jack works in a car factory . He doesn’t earn much money and his boss is very cruel . But
he must work there for several reasons . Firstly , he has a poor family . His father died
~when he was a little boy . His mother is ill and needs a full-time nurse . Secondly . he has
visited different countries and his yearly travels cost too much . Thirdly , he is a university
student and he should pay for his studies . And finally , he has a few nice friends at work
and he enjoys being with them . Therefore he isn’t going to leave his job . He says , “My
life is terrible now but I hope my future would be bright !”

True or False

30. Jack’s mother pays for his studies and travels .~ ..
31.Helikeshisjobverymiich. =000 clsimsessaseismimminens

Choose the best answer :

32. Jack pays attention 10 . s ssss = ismssum .
a. the factory b. the future c. his boss d. his mother

Answer the questions :

33. How does Jack’s boss treat him ?
34. When did his father die ?

12 | all

GOOD LUCK.

(@irgsi sids) . ol Jass gaalyT by Uy @ yel 32 sa




(’ s sbaol b o Jxo

Olpl el (5500

diallt s s OlRG S SBy9n 9 Shisel S ol
& b Olrd # adlaie bygy g gl o)l
p
o AT el el ppoiagly A8 elaysiibazel cuy Ol g1 (o091 (65 931 b g 1 hjsal sty el byl ) oo b
QB/1+ /5 1y lxiol 6 Wb VO nlxiel ploj (2% pake g ool 1sle axdy fand, yoy pb ((Solgils pb g ol
[EJVA QR SUICINTY] Y0 -47 : Luaxi Jlw o > ,_sui Gl iyl s/ ye pU Mz )5 b i)y ol OYlgw
e,k (S juzewly)))
1 | Vocabulary : ]
A. Match the pictures with the sentences .
1.(...) 2.(...) 3.(...) 4.(...)
2 | B. Fill in the blanks with the words given . ( There is one word extra )
S. 6. - 8.
9. 10. 11. 12,
0.5 | C. Fill in the blanks with the proper words of your own .
13 14.
0.5 | D. Choose the correct answer .
15.(...) 16.(...)
2 | Grammar :
E. Choose the correct answer .
17.(...) 18.(...) 19.(...) 20.(...)
1 | F. Put the words in the correct order .
L oo aimnn n wniiiis 3 SiRiRRR 3
DL 1y ¢ voommnin » mmisihiih § RER R 5 B
| | G. Match the items in A with the items in B . There is one extra item in B .
23.(...) 24.(...) 25.(...) 26.(...)
0.5 | Pronunciation:
H. Which one is different in intonation pattern?
27.(...)
Comprehension:
| 1. Choose the best answer .
28.(...) 29.( .o )
2.5 | J. Read the passage and answer the questions .
30.€ i ciss ) £ ¥ 5 . ) 32.(.ennnns )
33
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